BOK-£415

"Schutzvermerk nach DIN ISC 16016 beachten”

NN
N

—

R

sl10j11

~120
SS

P @

Versenkte Schraube zum versiegeln

|

Recessed screw for sealing M16x1.5, Exe M12x1.5,Exe
~240
222
- N D)
D ®
SFMIC recnologles |
{ stop (L4 ][ 2 3
Menull 4 |[ 5 || 6 i M16x1.5, Ex e,
o | - J;L ";’ [?] schwarz / black
,£ 3 { [ Prmtl sTu VWX Yz @6-10mm Y 2 1
: AR | HE—— wioas exe '
schwarz / black
{- @5-8mm
7Y
A / M16x1.5, Ex e,
_ _ EMV / EMC Type
Namensstreifen NoMix2000 @5-8mm
Name stripe NoMix2000
Y

= )

EPROM programmiert mit aktueller Software Version

EPROM programmed with actual software version

2 1352031 1 |Gehause-Untertell Housing-bottom part

1 1351936 1 Gehause-Oberteil Housing-top part
Pos./ | Teile-Nr./| Stuck/ "y
Item | Part-No. |Quant. Benennung Description

ALL TOLERANCED DIMENSIONS ARE FOR INSTALLATION ONLY.
ALL OTHER DIMENSIONS ARE FOR REFERENCE ONLY.

+ MCTechnoIogies

F.A. Sening GmbH, Regentstr. 1, 25474 Ellerbek, Germany

Date / Datum|  Name Item name / Benennung
- @ Drawn | 13.03.2007 |Larsen Maln Unlt & D|Sp|ay, komplett / Complete
made for / zugehorig zu

Method 1 ethod 3  |Checked NoMix 2000
Scale / Mal3st. 13 Item-No. / Teile-Nr. Drawing No. / Zeichnungs-Nr. Rev. Sheet /

- Blatt
Size / Format ISO - A4
Weight/ Gewicnt kg |[NM2MAINDISP2 352023_51 00B.01fof/von 1




